Table167_ODDs_EVENs EVENs-NOT_Matrix++RSHworksheet 2

Table167: ODDs_EVENs_EVENs-NOT Matrix, a.k.a. the DMT: Divisor (Factor) Matrix Table #2
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11 21 42 84 168 336 672
12 23 46 92 184 368 736
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14 27 54 108 216 432 864
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All 10 profiling parameters of the
18 35 70 | 140 Hﬂ 560 17120 ' Mersenne Prime-Perfect Number pairings
19 37 p— that one finds on the BIM

can also be found on the DMT,

20 39
i i Example: p=5 x=16 y;=15 2=Mp=31

21 41 X S=266 y =225 z°=MPS=961

[ | xz=PN=496 yz=0C=465 xy=CR=240

22 43
23 45 I [ To do so, one must look at the table
proper values and their Running Sums (3).

24 47 ——

25 49 If one multiplies the p-value * z=Mp the produc!
[ is some portion (y/p} of the yz=0C value.

26 51

- 53 [(o2)y/p]=yz=0C

28 55 ‘ { | and. as yz+2z=xz=PN

29 57 then

30 59 [(p2)y/p] + 2=x2=PN

31 . -
61 and eliminating the “p” solves the same
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34 67 The p-value--that here stands for the
[ Exponential Power of 2 -1
= 69 and may be a TRUE Prime or a "conlainer”--
36 71 [ also functions to indicate the number (i)
| of STEPS across the DMT. The “bookends”
37 73 of these STEPS will be the ODDs and the
f EVENs Not+4/EVENs=4 that hold the PN.
38 75 Belween will be the STEP values of the }s.
39 77 Example: p=5
40 79 One can find the ¥ by adding z+2(2)
4 81 31+2(31)=93
4 [ 31+42(93)=217
83 | 3142(217)=465-y2=0C
43 85 v+2(1905)=3937
44 87

t If one adds up only the §s inside the bookends
45 89 — but NOT the y2=0C —
| and adds p+1 # of z values, one gets the PN!

46 91
47 93 ' 93+217=310

| p=5.so0p+1=6
48 95 so add 62 10 310
49 97 6(31)+310=496=PN=xz
50 99
51 101

i Example: p=7
52 103 One can find the ¥ by adding z+2(2)
> 105 | 12742(127)=381
54 107 127+2(381)=889

| 127+2(889)=1905
55 109 12?12[1905]—3937
! 127+2(3937)=8001=yz=0C
56 111
[ If one adds up only the §'s inside the bookends
o 13 — but NOT the yz2=0OC —
58 115 and adds p+1 # of z values, one gets the PN!

59 117
381+889+1905+3937=7112

o . p=7,s0p+1=8
so add 8z to 7112

61 121
62 . 8(127)+7112=8128=PN=xz
63 125
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Divisor-Factor Matrix Table (DMT) Every ARROW value is a multiplier times ) in the Column of its SQUARE (shown in RED Rectangle),

e.i. The ODD @ ARROW 7 when SQUARED equals 49 (RED Rectangle) and that Column has the products of 7 x any other ODD.
Running Sums, ¥, across the ODDs Rows shown in WHITE. Circles are key repeaters. Red Rectangles show } at the MPS & PN location.

The } is simply the product of the ODD x ) of the Column Header in Row 1, e.i. 3x3=9, 3x7=21.

The KEY Circle & Oval repeaters are nothing more than the values found when these multipliers are reversed on the table, e.i. 3x7=21, reverses to 7x3=21, the
latter found at the ODD Row 7, EVEN Header } of 3.

The } directly after any Red Rectangle MPS & PN spot on a given Row is ALWAYS found directly before the Red Rectangle MPS & PN spot on the Next
“container”/TRUE Mp-PN Row, e.i. 8001 on ODD 63 Row is found on ODD127 Row. More examples shown with the DARK GRAY ovals just above. The Sum
of the Y (shown in larger BLACK Rectangle Box = PN (pointed to with ARROWS). # of } entries =,/Col. Header, e.i. /Col16=4, so 4 ) entries 31+93+144+217=496
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